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𝐻𝐶𝑂2(288,5 𝐾)

𝐻𝐶𝑂2(288 𝐾)
=  

−20,4·10−3𝐽·𝑚𝑜𝑙−1

8,321 𝐽·𝑚𝑜𝑙−1·𝐾−1 ·  (
1

288
−
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) = 

𝑙𝑛
𝐻𝐶𝑂2(288,5 𝐾)

𝐻𝐶𝑂2(288 𝐾)
=  

𝐻𝐶𝑂2(288,5 𝐾)
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−6,7·10−4𝑀·𝑎𝑡𝑚−1

4,5·10−2𝑀·𝑎𝑡𝑚−1







https://www.esrl.noaa.gov/gmd/webdata/ccgg/trends/co2_data_mlo.png


[𝐶𝑂2·𝐻2𝑂]

𝑝𝐶𝑂2

[𝐻+]·[𝐻𝐶𝑂3
−]

[𝐶𝑂2·𝐻2𝑂]

𝐾𝑐1· 𝑯𝑪𝑶𝟐· 𝑝𝐶𝑂2

[𝐻+]

[𝐻+]·[𝐶𝑂3
2−]

[𝐻𝐶𝑂3
−]

𝐾𝑐2· 𝐾𝑐1· 𝑯𝑪𝑶𝟐· 𝑝𝐶𝑂2

[𝐻+]2

1 +
𝐾𝑐1

[𝐻+]
+

𝐾𝑐1·𝐾𝑐2

[𝐻+]2



𝟏 +
𝑲𝒄𝟏

[𝑯+]
+

𝑲𝒄𝟏·𝑲𝒄𝟐

[𝑯+]𝟐

𝑚𝑜𝑙 𝐻2𝑂2

𝑚𝑜𝑙 𝑎𝑖𝑟𝑒

𝑚𝑜𝑙 𝑂3

𝑚𝑜𝑙 𝑎𝑖𝑟𝑒







𝑘𝑎1[𝐻2𝑆𝑂3]

[𝐻+]
=  

1,7·10−2·1· 10−7𝑚𝑜𝑙·𝐿−1

[𝐻+]
=  

1,7·10−9𝑚𝑜𝑙·𝐿−1

[𝐻+]
 

1· 10−14𝑚𝑜𝑙·𝐿−1

[𝐻+]
+ 

1,7·10−9𝑚𝑜𝑙·𝐿−1

[𝐻+]

1

4,12· 10−5 = 𝟒, 𝟑𝟖

−
𝑑[𝑆(𝐼𝑉)]

𝑑𝑡
=

𝑑[𝑆(𝑉𝐼)]

𝑑𝑡
= 𝑘𝑏 · [𝑆𝑂2𝑂𝑂𝐻−] · [𝐻+]

𝑑[𝑆𝑂2𝑂𝑂𝐻−]

𝑑𝑡
= 𝑘𝑎 · [𝐻𝑆𝑂3

−] · [𝐻2𝑂2]



−
𝑑[𝑆𝑂2𝑂𝑂𝐻−]

𝑑𝑡
= 𝑘−𝑎 · [𝑆𝑂2𝑂𝑂𝐻−] + 𝑘𝑏 · [𝑆𝑂2𝑂𝑂𝐻−] · [𝐻+]

=  [𝑘−𝑎 + 𝑘𝑏 · [𝐻+]] · [𝑆𝑂2𝑂𝑂𝐻−]

𝑑[𝑆𝑂2𝑂𝑂𝐻−]

𝑑𝑡
= −

𝑑[𝑆𝑂2𝑂𝑂𝐻−]

𝑑𝑡

𝑘𝑎 · [𝐻𝑆𝑂3
−] · [𝐻2𝑂2] =  [𝑘−𝑎 + 𝑘𝑏 · [𝐻+]] · [𝑆𝑂2𝑂𝑂𝐻−]

[𝑆𝑂2𝑂𝑂𝐻−]𝐸𝐸 =
𝑘𝑎[𝐻𝑆𝑂3

−] · [𝐻2𝑂2]

𝑘−𝑎 + 𝑘𝑏 · [𝐻+]

𝑑[𝑆(𝑉𝐼)]

𝑑𝑡
= 𝑘𝑏 ·

𝑘𝑎[𝐻𝑆𝑂3
−]·[𝐻2𝑂2]

𝑘−𝑎+𝑘𝑏·[𝐻+]
· [𝐻+]

K
𝑘𝑎·𝑘𝑏

𝑘−𝑎
    

K
𝑘𝑏

𝑘−𝑎
    

K

−
𝑑[𝑆(𝐼𝑉)]

𝑑𝑡
=

𝐊·[𝐻𝑆𝑂3
−]·[𝐻2𝑂2]·[𝐻+]

1+𝐊·[𝐻+]


[𝐶𝑂2·𝐻2𝑂]

𝑝𝐶𝑂2

→


[𝐻+]·[𝐻𝐶𝑂3

−]

[𝐶𝑂2·𝐻2𝑂]
→

−
𝑑[𝑆(𝐼𝑉)]

𝑑𝑡
=

𝐊·𝐊𝐜𝟏·𝑯𝑪𝑶𝟐·𝒑𝑪𝑶𝟐·[H2O2]

1+𝐊·[𝐻+]



 K

−
𝑑[𝑆(𝐼𝑉)]

𝑑𝑡
=K

K
𝑘𝑎·𝑘𝑏

𝑘−𝑎
  


